

الف)  $y = \frac{x+3}{2x^2+3x-1}$   $\rightarrow$   $(-3)$  (۲)

$\xrightarrow{\div (x-1)}$   $(2x^2 + 5x + 3) / (x-1)$  (1)

$\downarrow$   $n = \frac{-5 \pm \sqrt{25}}{2} = (-3, \frac{1}{2})$

Sign chart:  $\begin{array}{c|c|c|c|c} & -3 & \frac{1}{2} & & \\ \hline & + & * & + & - & + \end{array}$

$Df = \mathbb{R} - \{-3, \frac{1}{2}, 1\}$  ✓

ب)  $y = \frac{x+3}{x^2+9x+10}$   $\rightarrow$   $(-3)$  (1)

$\xrightarrow{\div (x+1)}$   $(x^2 + 8x + 10) / (x+1)$

$\downarrow$   $n = \frac{-8 \pm \sqrt{64}}{2} = (-3, -1)$  (۲)

Sign chart:  $\begin{array}{c|c|c|c|c} & -3 & -1 & & \\ \hline & + & + & - & + \end{array}$

$Df = \mathbb{R} - \{-3, -1, -\frac{1}{2}\}$  ✓

الف)  $y = \frac{x+3}{x^2-2x+2}$   $\rightarrow$   $(-3)$  (۲)

$\xrightarrow{\div (x-1)}$   $(x^2 - 3x + 3) / (x-1)$  (1)

$\downarrow$   $\frac{3 \pm \sqrt{3}}{2}$   $\Delta < 0$

Sign chart:  $\begin{array}{c|c|c|c|c} & -3 & 1 & & \\ \hline & + & \ominus & - & \oplus & + \end{array}$

$Df = \mathbb{R} - \{1\}$  ✓

ب)  $y = \sqrt{\frac{x+3}{x^2-2x+2}}$

$\xrightarrow{\div (x-1)}$   $\frac{x+3}{(x-1)(x^2-2x+2)}$   $\Delta < 0$

Sign chart:  $\begin{array}{c|c|c|c|c} & -3 & 1 & & \\ \hline & + & - & + & \end{array}$

$Df = \mathbb{R} - (-3, 1)$  ✓

$$\frac{r}{n^2 - \sqrt{n} + 10} \quad n > 1 \rightarrow \frac{r}{(n-r)(n-a)} \rightarrow \frac{r}{+|-|+} \quad (P) \quad (r)$$

Df:  $(1, +\infty) - \{r, a\}$

$$\frac{r}{n^2 + \sqrt{n}} \quad n < 1 \rightarrow \frac{r}{n(n+r)} \quad \frac{r}{+|-|+}$$

Df:  $(-\infty, 1) - \{-r, 0\}$

Df U Df:  $\mathbb{R} - \{-r, 0, r, a\}$  ✓

الف)  $\frac{n+r}{|n+1| - |n+r|}$  (P) (r)

$$\rightarrow r n^r + r n + 1 = n^r + 9n + 9$$

$$r n^r - r n - 1 = 0 \quad Df = \mathbb{R} - \left\{ \frac{r}{r} \right\}$$

$$\rightarrow y = \sqrt{|r n + 1| - |n + r|} \quad (S) \rightarrow n^r - r n - 1 = 0$$

$$(n-9)(n+r) \rightarrow n = r, \frac{r}{r}$$

$|r n + 1| - |n + r| \geq 0$

$|r n + 1| \geq |n + r| \quad r n^r + r n + 1 \geq n^r + 9n + 9$

$r n^r - r n - 1 \geq 0 \rightarrow (n-9)(n+r) \geq 0$

✓ Df:  $(-\infty, -\frac{r}{r}] \cup [r, +\infty)$

الف)  $y = \log_r(1 - \log_r^n)$  (P) (a)

$n > 0$

$1 - \log_r^n > 0 \quad \log_r^n < 1 \quad n < r$

$$\rightarrow y = \log_r \left( \frac{1 - \log_r^n}{r} \right) \quad n > 0$$

$0 < n < r$  ✓

$1 - \log_r^n \geq 0 \quad \log_r^n < 1 \quad n > \frac{r}{r}$  ✓

$$f(n) = \sqrt{\log_{\log_a} \log_a(r^{n-1})} \rightarrow n > \frac{r}{r}$$

$\log > 0$

$r^{n-1} > 1 \quad r^n > 1 \rightarrow n > 1$

$\log \leq 1 \quad (1, \infty)$

$r^{n-1} \leq \omega$

✓ Df:  $(1, r]$   $n \leq r$  ✓

الف)  $y = \log(r \cos x + 1)$  (1) (v)

$r \cos x + 1 > 0 \quad r \cos x > -1$

$\cos x > -\frac{1}{r}$

✓ D:  $(r \cos x - \frac{r}{r}, r \cos x + \frac{r}{r})$

الف) 0

PAYCO

DATE:

$$f(m) = \sqrt{a+2m^2 + am + b}$$

$$f(m) = \sqrt{2m+b}$$

$$a+2=0 \rightarrow a = -2 \quad (1)$$

$$-2m+b > 0$$

$$-2(2) + b = 0 \rightarrow b = 4 \quad \text{قناة!}$$

(1, 2, 3)

$$f(m) = \sqrt{m^2 + 2m + 1 - m^2}$$

$$0 \leq 0 \rightarrow f - f(2-n | (1)) \leq 0 \quad (2) (9)$$

$$f - 1 + 2m^2 \leq 0 \quad 2m^2 \leq 1 - m^2 \leq 1$$

$$-1 \leq m \leq 1$$

$$1 - (-1) = 2 \quad \checkmark$$

$$f(m) = \frac{\sqrt{4-n^2}}{[n] + [-n] + 1}$$

$$4 - n^2 \geq 0$$

$$4 \geq n^2 \rightarrow -2 \leq n \leq 2$$

(2) (10)

$$[n] + [-n] - 1 \quad \text{Df: } \{-2, -1, 0, 1, 2\}$$

مجموعه اعداد صحیح  $\mathbb{Z}$   $\checkmark$

PAYCO

DATE: \_\_\_\_\_